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Rl sPda X3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SotEs s AXR0HA 124,000 124,000
402 QI”F X201 & 124,000 124,000
01 QI 2 AL EZ (XM TH ) 124,000 124,000
O+E8 =8 23N X& 40,000
O=sgE 28 &1 N2 84,000
== NSE A4 Szt 51,500 25,300 26,200
Jl 20,600
= 9,270
Al 21,630
402 2IZtA=01d 51,500 25,300 26,200
Jl 20,600
= 9,270
Al 21,630
02 QI X2 AL EE(0IETHE) 51,500 25,300 26,200
Ol NZE A4 Szt 51,500
) 20,600
< 9,270
Al 21,630
ATHAENHXIAIE K& 1,044,366 137,373 906,993
= 852,544
< 191,822
402 2IZtA=01d 1,044,366 137,373 906,993
= 852,544
= 191,822
02 BIENEASEZ(0IETHR) 1,044,366 137,373 906,993
OATHAENHXIAIE XIS 1,044,366
= 852,544
= 191,822
SENE SEUASX(XNLASSFESHILGRA X2 427,600 13,068 414,532
(@A)
= 340,000
Al 87,600
402 2IZtA=01d 427,600 13,068 414,532
= 340,000
Al 87,600
02 RIENZASEZ(0IETHR) 427,600 13,068 414,532
OdM=SSEXA I HILot2A X2 187,600
== 140,000
Al 47,600
OANZ Satas SE(0rSf == 28 240,000
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Al 40,000
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Jl 1,600
Al 2,400
02 QI A2 AL E R (0IHTHE) 4,000 3,925 75
Otlar Ak E Blist K& 4,000
) 1,600
Al 2,400
ANESIRA 2S )| X2 34,701 14,880 19,821
< 10,407
Al 24,294
402 212 X201 & 34,701 14,880 19,821
S 10,407
Al 24,294
02 QI X2 AL EE(0IETHE) 34,701 14,880 19,821
OAEBIRA 2ZL)| X 34,701
= 10,407
Al 24,294
GAP QISsIH & d A A 32,000 13,000 19,000
= 16,000
= 4,800
Al 11,200
301 EtE N = 32,000 13,000 19,000
= 16,000
& 4,800
Al 11,200
14 IIEt2 83 32,000 13,000 19,000
OGP 1St ot e AAHl X3 32,000
= 16,000
[ 4,800
Al 11,200
FOHX] GAP Ot 24 R 24,000 20,190 3.810
= 12,000
< 3,600
Al 8,400
201 2= 24,000 20,190 3,810
= 12,000
=S 3,600
Al 8,400
01 AtR2tc|Hl 24,000 20,190 3,810
O=4HX GAP 2t e 24 X 24,000
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= 33,140
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< 5,500
Al 5,500
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= 27,640
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402 2I2FXH=201H 5,000 12,500 AT7,500
= 3,000
= 1,000
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